Government of Jammu Kashmir

Office of the Executive Engineer P.H.E Division Awantipora

E-Mail ID: phedivisionawantipora@gmail.com

No.PHE/Awp/ 2790-95 Dated: 01 -08-2022

Hilal Ahmad Bha S/o:Ab Ahad Bhat 2

R/o: Drangbal Pampore

Reg. Card No .: - 02/DEE/Hydl.Ang/2009-10 Tin No.01922131737 & PAN No. AWDPB-4090-G

Subject:- Allotment for Retrofitting of of water supply scheme Khenibugh by way of laying and fitting under JJM

Reference:- 1. Your tender in response to this office E-NIT No. 03/PHA of 2022-23 (e- tendering) issued under endorsement No.PHA/Awp/192-203 dated:- 16.04.2022Tender ID :2022_PHE_168786__1

2. Minuts of meeting DJJM Pulwama held on 14-06-2022
3. Technical sanction No. 41/JJM/2022-23 of 08/2022
4. CE/Kmr PMC DepH. Squ's No: CE/DHC/MC/DB/3745-83 D1:26/07/2022

For on behalf of lieutenant Governor of Union Territory of Jammu & Kashmir, contract for above mentioned work is hereby fixed with you at the following quoted rates, terms conditions .

Advertised Cost:-Rs 8.54 lacs

Alloted Cost:-8.72 lacs

rit

(Rupees eight lacs and seventy two thousand)only

	Particulars of items	Unit	Qty.	Allotte d Rate	Amount	
S.No.					in figures	in Words
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil (1 meter from cutting edge).	cum	800.28	444.72	355900.52	Rupees Three Lakh FiftyFive Thousand Nine Hundred Paise FiftyTwo Only
	65 mm dia G.1 &	mter	120	74.51	53647.92	Rupees FiftyThree Thousand Six Hundred FourtySeven Paise NinetyTwo Only
3	50 mm dia GI Pipes &	mtr	630	41.62	26218.08	Rupees TwentySi Thousand Two Hundred Eightee Paise Eight Only
3	40 mm dia GI Pipes 9-	mtr	710	ؤ 41.62	29547.36	Rupees TwentyNine Thousand Five Hundred FourtySeven Pais ThirtySix Only

Subject:- Allotment for Retrofitting of of water supply scheme Khenibugh by way of laying and fitting under JJM

	fitting under JJM					Rupees Twelve
形形 首	25 mm dia GI Pipes	mtr	400	31.26	12505.20	Thousand Five Hundred Five Paise Twenty Only
5	20 mm dia GI Pipes	mtr	800	20.66	16524.00	Rupees Sixteen Thousand Five Hundred TwentyFour Only
	15 mm dia GI Pipes	mtr	1000	20.66	20655.00	Rupees Twenty Thousand Six Hundred FiftyFive Only
7	Providing & fixing of MS Flanges to GI pipe including cutting of threaded portion, welding, cost of nuts, bolts and washers with testing after completion of work including all carriages complete for:	joint	12	510.00	6120.00	Rupees Six Thousand One Hundred Twenty Only
8	50 mm dia 65mm	joint	10	867.00	8670.00	Rupees Eight Thousand Six Hundred Seventy Only
9	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete	each	21	679.58	14271.08	Rupees Fourteen Thousand Two Hundred SeventyOne Paise Eight Only
10	25 to 40 mm nominal bore 50 to 80 mm nominal bore	each	3	1294.13	3882.38	Rupees Three Thousand Eight Hundred EightyTwo Paise ThirtyEight Only
11	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto	cum	720.25	202.67	145976.35	Rupees One Lakh FourtyFive Thousand Nine
12	50 m and lift upto 1.5 m. P/F of regulatory valves of reputed make with ISI mark including cost of fixing flanges nuts, bolts, washers, tail pieces complete 100 mm dia	No.	3	11220.0	33660.00	Rupees ThirtyThree Thousand Six Hundred Sixty Only
13	80 mm dia	No.	1	9180.00	9180.00	Rupees Nine Thousand One Hundred Eighty Only
14	Earth work in bulk excavation by manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 m2 on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge. All kinds of	cum	4.21	444.72	1872.27	Rupees One Thousand Eight Hundred SeventyTwo Pais TwentySeven Only

Subject:- Allotment for Retrofitting of of water supply scheme Khenibugh by way of laying and fitting under JJM

h	Providing and laying of stone soling (dully nand packed) on horizontal level.	cum	1.05	628.73	660.16	Rupees Six Hundred Sixty Paise Sixteen Only
16 F	Providing and laying in position cement concrete of specified grade including curing out excluding the cost of centring and shuttering. All work upto plinth level with: 1:4:8 (1 cement : 4 coarse sand : 8 graded	cum	0.7	4959.08	3471.35	Rupees Three Thousand Four Hundred SeventyOne Paise ThirtyFive Only
	Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)	cum	3.86	6562.69	25331.98	Rupees TwentyFive Thousand Three Hundred ThirtyOne Paise NinetyEight Only
	Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:2:4 (1 cement : 2 coarse sand : 4 graded	cum	0.96	7441.87	7144.19	Rupees Seven Thousand One Hundred FourtyFour Paise Nineteen Only
19	Painting with synthetic enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new	sqm	4.88	128.01	624.69	Rupees Six Hundred TwentyFour Paise SixtyNine Only
20	work Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level: Thermo-Mechanically Treated bars of grade	kg	91	80.84	7355.99	Rupees Seven Thousand Three Hundred FiftyFive Paise NinetyNine Only
21	Providing and laying 50 mm thick cement concrete flooring with floating coat of neat cement	sqm	2.25	566.61	1274.87	Rupees One Thousand Two Hundred SeventyFour Paise EightySeven Only
22	Lintel, beams, plinth beams, girders, bressumers and cantilevers.	sqm	1.73	613.02	1060.52	Rupees One Thousand Sixty Paise FiftyTwo Only
23	Suspended floors, roofs, landings, balconies, and access platform.	sqm	3.78	746.36	2821.26	Rupees Two Thousand Eight Hundred TwentyOne Paise TwentySix Only
24	Edges of slabs and breaks in floors and walls Under 20cms wide	s. Mtr	7.8	247.15	1927.74	Rupees One Thousand Nine Hundred TwentySeven Paise SeventyFou Only

A CONTRACTOR

Subject:- Allotment for Retrofitting of of water supply scheme Khenibugh by way of laying and fitting under JJM

f f	fasteners of required dia and length (hold fast lugs or with dash fasteners shall be paid	cum	0.08	109031.	8722.55	Rupees Eight Thousand Seven Hundred TwentyTwo Paise FiftyFive Only
	for separately): 9.1.1 First classkall wood Providing and fixing glazed shutters for doors, windows and clerestory windows using 4mm thick float glass panes including ISI marked M.S. pressed butt hinges bright finished of required size with necessary	sqm	0.54	3155.68	1704.07	Rupees One Thousand Seven Hundred Four Paise Seven Only
	Brick work with common burnt clay (non- modular) bricks of class designation 7.5 in foundation and plinth including curing in: Cement mortar 1:6 (1 cement : 6 coarse sand)	cum	3.43	6307.48	21634.64	Rupees TwentyOne Thousand Six Hundred ThirtyFour Paise SixtyFour Only
28	Providing and fixing panelled or panelled and glazed shutters for doors, windows and clerestory windows fixing with butt hinges of required size with necessary screws, excluding panelling which will be paid for separately, all complete as per direction of Engineer-in-charge. (Note: -Butt hinges and necessary screws shall be paid separately). First class kail wood 35mm	sqm	1.61	3155.68	5080.64	Rupees Five Thousand Eighty Paise SixtyFour Only
	Providing and fixing panelling or panelling and glazing in panelled or panelled and glazed shutters for doors, windows and clerestory windows (Area of opening for panel inserts excluding portion inside grooves or rebates to be measured). Panelling for panelled or panelled and glazed shutters 25 mm to 40 mm thick. First	sqm	0.64	2551.84	1633.18	Rupees One Thousand Six Hundred ThirtyThree Paise Eighteen Only
30	Distempering with 1st quality acrylic distemper, having VOC (Volatile Organic Compound) content less than 50 grams/ liter, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour.	sqm	14.4	2 80.22	1156.82	Rupees One Thousand One Hundred FiftySix Paise EightyTwo Only
31	P/F of PVC sanitary fittings with all accessiories of reputed compant with all accessiories c. job (to be paid as per actual)	Joh	1	6120.0	6120.00	Rupees Six Thousand One Hundred Twent Only
32	P/F of plumbing & electrition items of reputed make with ISI mark complete job	Jol	b 1	10200	.0 10200.00	Rupees Ten Thousand Two Hundred Only
3:	7 (To be paid as per actual) Providing and laying in position 1000mm did of 300mm in depth precast cement comcrete rings for sludge/waste water includinf, earthwork, disposal, carriage, loading, unloading etc	No	0. 2:	510.0	0 10710.00	Rupees Ten Thousand Seve Hundred Ten Or

Subject:- Allotment for Retrofitting of of water supply scheme Khenibugh by way of laying and fitting under JJM

42	Total			Service II	Rs	8.72 lacs
	Carriage by Manual Transport pipes @ 500 m	МТ	11.81	362.80	4284.71	Rupees Four Thousand Two Hundred EightyFour Paise SeventyOne Onl
41	Pipes @ 12Km lead	мт	11.818	276.68	3269.72	Rupees Three Thousand Two Hundred SixtyNine Paise SeventyTwo Onl
40	Stone soiling	cum	1	49.70	49.70	Rupees FourtyNine Paise Seventy Only
39	Bricks	No	1627	1.23	2008.04	Rupees Two Thousand Eight Paise Four Only
38	Aggregates 40mm	cum	0.63	501.12	315.70	Rupees Three Hundred Fifteen Paise Seventy Only
37	Aggregates20mm	cum	4.42	461.01	2037.66	Rupees Two Thousand ThirtySeven Paise SixtySix Only
36	Sand	cum	3.68	461.01	1696.51	Rupees One Thousand Six Hundred NinetySix Paise FiftyOne Only
35	Carriage by Mechanical Transport 25 Km lead Steel	Ton	2.14	409.84	877.05	Rupees Eight Hundred SeventySeven Paise Five Only

Rates & Quantity Checked

Head Draftsman

A Xen

Terms Conditions:-

- The cost of work in no case exceed beyond Rs 8.72 lacs (Rupees eight lacs and seventy two thousand) only
- Bid declaration security @ 2% vide CDR No.3088970 Dated:-10.05.2022 for an amount of Rs 18000/- (J&K Bank Pampore) is being retained as security deposit shall be released only after successful completion of the work expiry of defective period.
- 3 Time of completion is essence of the contract.
- The work shall have to be started by you at site immediately and ensure its successful completion within a period of <u>o</u> months from the date of issuance of allotment from this office strictly in accordance with the approved proposals falling which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited. However date of start for laying and fitting of pipes will start within 07 days from the date of issuance of pipe material by the deptt.
- An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of allotment failure to execute such a formal deed shall not however prevent the contract from being enforced upon you.
- 6 The allotted works shall be subject to check by the third party monitoring agency appointed by the department.
- Payment shall be released as per actual / measured work done not less than 20% of the allotted cost on a monthly basis
- Performance security equivalent to 3% of the value of the contract shall have to be deposited by you in shape of CDR/FDR/bank Guarantee within one week of issuance of allotment order and valid for a period of 3 months beyond the expiry of warranty period of the contract.
- The firm shall be bound for satisfactory performance of works for 18 months after the successful commissioning of the works. If during warranty period any malfunctioning / defects arise, you shall have to rectify same within a period of 10 days of receipt of intimation. In case of any failure on your part, the department may get the defects removed / repaired by any other means and cost thereof shall be recovered from you and shall be recommended for further punitive action as governed under the relevant clause of the contract including black listing.
- 10 Pre & post Geo-tagged photographic evidence be taken during the execution of the work and shall have to be produced at the time of submission of the bill.
- The quantity allotted shall have to be executed on ground strictly as per the estimates that have been framed in the DPR for the item of "laying /fitting & construction of Toilet block".
- All other terms and conditions shall be applicable as laid down in standard bid document and PWD from No. 25/33.
- Any rules / terms and conditions if not stipulated in the bidding documents, shall be strictly dealt in accordance with the relevant rules / guidelines stipulated in General Financial Rules (GFR-2017) and manual for procurement of works 2019 G.O.I.

Head Draftsman

Tech. Officer

ISD (PHE) Division Awantipora